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F-Test Two-Sample for Variances

Variable 1 Variable 2

Mean 52.91333 44.23333
Variance 233.129 190.1758
Observations 60 60
df 59 59
F 1.22586
P(F<=f) one-tail 0.218246
F Critical one-tail 1.539957
p2 (two-tailed p-value) 0.436492

t-Test: Two-Sample Assuming Equal Variances

Variable 1 Variable 2

Mean 51.404 46.158
Variance 179.1265 246.636
Observations 50 50
Pooled Variance 212.8812
Hypothesized Mean Difference 0
df 98
t Stat 1.797751
P(T<=t) one-tail 0.037648
t Critical one-tail 1.660551
P(T<=t) two-tall 0.075296
t Critical two-tail 1.984467
Difference in Mean 5.246

The mean for male and female are 51.404 and 46.158 respectively
It suggests that males have higher income than females
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